Bellwork  Alg2A  Thursday, May 4, 2017
1. Use this polynomial:  Ax) = 2x* — 7x* — 14x -8
a. Make a list of all possible rational roots.

b. Find which of these possible rational roots is actually a root.

c. Use your answer to part b and find the remaining roots.

IRRATIONAL ROOT THEOREM' If a + /B is a root of a polynomial, then the conjugate a — /b is also
a root of the polynomial.

2. Use this polynomial: f{x) = x> — 8x* + 6x3 + 40x? — 16x — 48

Given 6,—/2, and 1 + /5 are roots of this polynomial, find the remaining roots.

3. Use this polynomial: Ax) = x* —3x3 — 13x? + 9x + 30

Given -2 and /3 are a zeros of the polynomial find the remaining two zeros.
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